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BIOLOGY JB 

Ti.me : 45 Minutes Maximum Marks : 120 

Total Marks: 120 (4 x 30) 

Answer all questions 

This Question Paper consists of 12 pages. Each Multiple Choice Question (MCQ) 
is -provided with four options (A), (B), (C) and (D). Identify the correct option and 
darken/fill the corresponding circle (A)/(B)/(C)/(D) with Blue/Black Ballpoint Pen 
on the OMR Answer Sheet . 

. For each question, 4 marks will be awarded for correct answer and for each 
wrong answer 1 mark will be deducted. 
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1. Where do you find 'Ball and Socket' joint in human body? 

(A) Shoulder 

(C) Atlas 

(A) ffl 

(C) 151JIUatl>t-~ 

(B) Knee 

(D) Cranium 

(B)~ 

(D) <PC~lluc~ 

2~ If occipital lobe in cerebrum is damaged, which action is lo~t? 

(A) Speech 

.(C) Vision 

(C) m-~ 

. (B) Hearing 

(D) Me~~ry_ . . · 

(D)? -
. . ' . ' . . . . . . . 

I • l • 

~ . . ' 

-· . . . - . ' . . . 

' . . . . .. . . . 

3. Which hormone promotes glycogenolysis and gluconeogenesis? 

(A) Insulin 

(C) Glucagon 

(C) ~,;f.f 
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(B) Aldosterone 

(D) ACTH 

(D) ACTH 
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4. Which of the following is not the function of liver? 

(A) Detoxification (B) Bile secretion 

(C) Glycogen storage (D) Insulin production 

81 f.mm ~ cl1t.X!fl .._ ';ffl? 

(B) ~"IR't 

(D) \-i>Jl'l-i ~'-~ 

5. Stomata of which plants are opened at night? 

(A) C3 plants 

(C) CAM plants 

(A) C3~ 

(C) CAM~ 

(B) C4 plants 

(D) Hydrolytic plants 

(B) .C4-

6. Which part . of nephron is responsible for active reabsorption of sodium? 

(A) Proximal convoluted tubule 
. . . 

(B) Renal capsule 

(C) Collecting duct 

(D) Descending arm of Henle's loop 

(A) 9RtPf~ -11~<151 

(C) ~~~ -11~<151 
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(B) ~ ~9PJJ'f 
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7. Which of the following is associated with Barr body? 

(A) Autosome 

(C) Y chromosome 

(A) 'Olt'GIO'llil 

(C) Y WFl()IIC"llil 

(B) X chromosome 

(D) Only male body 

(B) X WFl()IIC>ilil 

(D)~~~~ 

8. Which of the following has more similarity with modern man? 

(A) Australopi.thecus 

(C) Neanderthals 

(B) ·cro-Magnons 

(D) Homo erectus 

(B) WFl-lfJl~ 

9. Which of the following pairs is correct? 

(A) AIDS - Bacillus 

(C) Malaria - Tfypanosoma 

(C) ilJICat~~I - '~"'IJIC--!IO'ilill' 
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(B) Syphilis· :.: Treponem~-·Pallidum 

(D) Gonorrhoea - Virus 

(D) '51C--!l~~I - c:sl\~1'1 



10. Which is the common term for cancer of epithelial cells? 

(A) Leukemia 

(C) Emphysema 

(B) Sarcoma 

(D) Carcinoma 

(B) >il'$1C<l5li!I 

(D) <15l'$1~C--lli!I . 

11. Which of the following is used for bread-making? 

(A) S. cerevisiae . 

(C) Streptobacillus 

(C) '~"'lt.Ol<lll~atl>i' 

12. What is yogurt? 

(A) Fe~ent~~~n. prod1.;1ct 
. . ' . 

(C) Dehydr~ted_ product 
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(B) Aspergillus 

(D) S. octosporus 

(B) Pasteurized product 

(D) Distillation product 

(B) "11 '@'$1 l~C'Sf -1 •·l'stl \t> <ffl 

(D) "11\!S--l'Sfl\!S ~ 

I ,· 
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13. What are the most important livestocks in India? 

(A) Elephants and cattles 

(C) Cattles and dogs 

(B) Cattles and buffaloes 

(D) Dogs and cats 

(D) ~'8~ 

14. Which of the following is not an antibio~c? 

(A) Streptomycin (B) Chloromycin 

(C) Penicillin (D) Aflatoxin 

)81 ~ ~ '3111~1Ciilt°k .ffl? ... 

(A) ~91t.Gl~r\f1'ii (B) CJl51C~l~~--I • • • I 

(C) <.91{"4~f61--1 (D) '51JIJPrGf91--t 

15. Which of the following DNA is made from RNA? 

(A) A- DNA 

(C) C- DNA 

:><1:1 ~~DNAiRNA~~~? 

(A) A-DNA 

(C) C- DNA 
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(B) B-DNA 

(D) Z-DNA 

(B) B-DNA 

(D) Z-DNA 

• .. .._ l . . ' 



16. Who first proposed the term 'biodiversity'? 

(A) Hooker 

(C) Radford 

(A)~ 

(C) :iUIISC~I~ 

17. The genetic material of influenza is 

(A) Double stranded DNA 

(C) Single stranded, RNA 

(A)~ DNA 

(C) ~~RNA 

(B) Candolle 

(D) W. G. Rosen 

(B) Single stranded DNA 

(D) Double stranded RNA 

(B) ~~DNA 

(D) ~RNA 

18. Which one of the following is the first stable compound in Krebs cycle? 

(A) Citric acid 

(C) Acetyl-CoA 

(C) 15lJl~Ur\61-CoA 
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r, 

(B) Fumaric acid 

(D) Oxaloacetic acid 

(B) fits~i!JI~~ 15lJl~IS 
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19. Which one of the following is a non-protein enzyme? 

(A) Amylase 

(C) Ribozyme 

(B) lsomerase 

(D) Lipase 

(B) '511\t.>IICi!C~lSr 

(D)~ 

20. Which of the following cells is round and biconcave? • 

(A) Neutrophil 

(C) Erythrocyte · 

(C)~~ 

21. Which one is the origin of lysosome? 

(A) Chloroplast 

(C) Golgi body 

(C) ~~ 
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(B) Osteocyte . . · 

(D) Astrocyte · · 

. . 
,. ' ', 

• • ' 1 • ' • ,.' ,. I 

(B) Mitochondria 

(D) Ribosome 

(B) il~C61<15~~~1 

(D) ~~C<qlC>tlil 

• 

': 



22. 'Oral contraceptive pills' help in birth control by 

(A) killing sperms 

(B) killing ova 

(C) preventing ovulation 

(D) forming barrier between sperm and ovum 

(A) ~iirl'J_~~ (B) ml'J_ ~ ~ 

(C) m~~~~~~ (D) ~iirl'J_ \S mt~ ~ ~~ ~ ~ 

23. What is the function of manganese in plants? 

(B) Synthesis of nucleic acid (A) Formation of cell wall 

(C) Synthesis of chlorophyll (D) Photolysis during photosynthesis 

(A) ·~mm~~ 
(C) @IC~l~iii ~~ ~ 

(B) ~~fjjs<IS ~JIPI\S ~~ ~ 

(D) >tlCiiil<IS>t~,IC-ll~ ~ ~C6liiil\Pl>t 

24. Which of the following is believed to be the cause of dyslexia? 

(A) Mercury 

(C) Lead 

(A)~ 

. (C) ~ 
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(B) Cadmium 

(D) Manganese 

(B) <15JI\Sfi1~ I~ 

(D) ~Jl'fl~tat 

[P.T.O. 
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25. Which of the following is an example of Gerie bank? 

(A) Ex-situ conservation 

(C) Sanctuary 

(C)~~ 

26. Fungal part of lichen is called 

(A) phycobiont 

(C) mycoparasite 

~~I 61 I\C<ptif!:I ~~'itPJ ~~~ ~ ~ 

(A) ~I\C<pl~l~l'iJ 

(C) ~I\C<tSl"iJl~l>il~~ 

(B) In-situ conservation 

(D) Hotspot 

(D)~ 

(B) mycobiont 

(D) None of these ... 

(B) ~I\C<tSl~ l~ i-l, 
. . . 

(D) 11!~ C<tSIC--llt&\ .:m 

27. Which of the following restriction enzymes produces blunt ends? 

(A) HindIII 

(C) EcoRV 

(A) HindIII 

(C) EcoRV 
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·(B) Sall ·.· 

(D) Xhol 

(B) Sall 

(D) Xhol 

-. - . . . 



2s. DNA fragments are 

(A) negatively charged 

(B) neutral 

(C) positively charged 

(D) either positively or negatively charged depending on size 

(B) ~ts~liit ~ 

(C) "i~t&c-sfa, ~ ~ 

29. Which of the following is a protein deficiency disease? 

(A) Eczema 

(C) Kwashiorkor 

(A) ~~ 
. . 

(B) Cirrhosis 

(D) Uremia 

(B) fstc:i:ilfst>t 

(D) \t;c:i:ifsl~I 

30. When was WHO established in Switzerland? 

(A) 7th April, 194 7 

(C) 10th April, 1949 

(C) ~o ~~, ~~8~ 
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(B) 7th April, 1948 . 

(D) 8th April, 1950 

(B) C\ ~~, ~~Slr 
• 

(D) 1r ~~, ~~~o 

[P.T.0. 
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